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Gujarat Secondary and Higher Secondary Education Board,
Gandhinagar

Unit Test: 4

STD. : 11 (GENERAL) Max. Marks: 25
SUB. : Elements of Accounts (154) TIME: 1.00 Hour

. There are total 13 questions in this unit test.
il. Students have to write the answers of this unit test in their notebook

SECTION: A
Select the correct answer of the following questions 1 to 5.
Each question carries 1 mark. [05]

1. When revenue expenses are paid in cash,
(A) increase in assets — increase in liability
(B) decrease in assets — decrease in capital
(C) increase in assets — increase in capital
(D) decrease in assets — decrease in liability
2. What is sent to the traders along with goods returned which is purchased on

credit?
(A) Debit note (B) Credit note
(C) Bills receivable (D) Bills payable
3. Credit purchase of assets will be recorded in :
(A) Purchase book (B) Journal proper
(C) Cash book (D) Bills payable book
4, serves the purpose of journal and cash account.
(A) Cash book (B) Sales Book
(C) Sales Return Book (D) Bills Receivable Book

5. When bank credits interest in our account then
(A) Bank balance decreases (B) Bank balance increases
(C) Cash balance decreases (D) Cash balance increases

SECTION : B
Answer the following questions 6 to 10 in one sentence.
Each question carries 1 mark. [05]

Explain A=C + L.

What is meant by the subsidiary book?
What is meant by debit note?

What is bank overdraft?

0. Give the full form of NEFT & RTGS.

BHoOoo~N®
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11.

12.

SECTION: C
Answer the following question no. 11 as directed carries 3 marks. [03]

Writs journal entry for the following transaction and explain accounting
treatment based on equation:

(1)  Commenced business with capital of ¥ 80,000.

(i) ¥ 20,000 deposited with bank and opened account.

(i)  Salary of ¥ 4000 paid by cheque.

SECTION: D
Answer the following question no.12 & 13 as directed.
Each question carries 6 marks [12]

Prepare purchase book, sales book, purchase return book and sales return
book in the books of Radha Krishna Stores from the following transaction:
2020
Sep. 1 Purchase goods of ¥ 60,000 from Ramanuj at 10%
trade discount. Bill N0.120
4 Purchase goods of ¥ 24,000 from Nirmi at 10% cash discout.
Credit period 1 month. Bill No.130
6 Sold goods of ¥ 30,000 to Suresh at 5% trade discount and 3%
cash discount under Bill N0.350
11  Purchase goods of ¥10,000. Cash Memo no.58
15  Suresh returned goods of ¥ 6,000. Credit note no.20 sent
17  40% goods returned to Nirmi and debit noteno.17 sent.
19  Purchased furniture of ¥ 7000 from Shree Saraswati Furniture
Mart.
20  Purchased goods of ¥ 1,80,000 from Paresh. Half of the amount
paid immediately.
21  All the goods purchased from Paresh sold to Hema for
% 2,16,000. Credit one month . Trade discount 10%. Bill No.360
23 Hema returned half of the goods which was sent to Paresh.
24  Karan placed an order ¥ 60,000 at 10% trade discount for
supply of goods.
25  Goods sent to Karan as per order. ¥ 1000 added for wages.
Under bill no. 365.
26  Cash purchase ¥ 16,000 and cash sales ¥ 20,000.
27  Returned goods to Sweety of ¥ 20,000 which was purchased in
August and sent debit note no.20
30  Karan returned half of the goods and proportionate amount of
wages was given credit.

Page No.2 154 [E]



From the following transactions, prepare three columnar cash book of Shri
Tarak Mehta:

2020

Sep. 1 Opening cash balance ¥ 3500, Opening bank overdraft ¥ 6000.

2 Goods of ¥ 2000 sold to Parag in cash at 10% cash discount.

4 Goods of ¥ 4000 purchased from Dipak at 10% trade discount
and 5% cash discount and the amount is paid by cheque.

6 Goods of ¥ 7000 sold to Ami. Ami paid 40% amount by cash
and the remaining amount is paid by cheque. Cheque is
deposited in the bank.

8 Cheque of ¥ 6000 is received, which is issued by Gaurang
towards the payment of his old debt of ¥ 6050, which is
deposited in the bank.

12 Salary of ¥ 2000 paid by NEFT and % 5 paid for NEFT charge.

15 ¥ 1500 paid for stationary expenses by cheque.

17 ¥ 4100 deposited in the bank.

20  As more funds are required in the business, personal vehicle of
% 10,000 sold for ¥ 8,000 and % 7000 is brought in the business.

23 ¥ 6000 withdrawn from the bank for the payment of school fees
of his daughter.

25 ¥ 500 paid for the shop rent.

28  Bank debited ¥ 30 bank commission and ¥ 20 for SMS charges.

29 ¥ 5000 deposited in the bank account.
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Gujarat Secondary and Higher Secondary Education Board,

Gandhinagar

Unit Test: 4

STD. : 12 (GENERAL) Max. Marks : 25

SUB. : Elements of Accounts (154) TIME: 1.00 Hour

o s

There are total 8 questions in this unit test.
Students have to write the answers of this unit test in their notebook

SECTION : A
Select the correct answer of the following question 1 to 3.
Each question carries 1 mark. [03]
If partnership deed is silent, interest is payable at ........ on unpaid amount payable

to the retiring partner.

[A] 10%p.a.

[B] 12%p.a.

[C] 6%p.a.

[D] Zero

Which is the first payment made from the realisation of assets, at the time of the
dissolution of a firm:

[A] Dissolution expense

[B] Loan of partner's wife

[C] Liabilities towards third parties

[D] Partner's loan

Which of the following account is opened to incorporate the accounting effect of
assets and liabilities of the partnership firm at the time of dissolution?

[A] Profit and loss account

[B] Profit and loss appropriation account

[C] Revaluation account

[D] Realisation account

SECTION : B
Answer the following questions 4 & 5 in one sentence.
Each question carries 1 mark. [02]

State provision for the goodwill as per accounting standard-26
State the methods of dissolution of a partnership firm.
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SECTION: C
Answer the following question no. 6 as directed carries 4 marks. [04]

Pass journal entries for the following transactions of firm in the case of firm’s

dissolution:

(1) Income tax liability is now payable ¥ 15,000 it is not recorded in the book.

(i) A partner has accepted to pay loan of his Smt. ¥ 20,000, which was given to
the firm.

(iii)  Machine is disclosed in the book at the time of dissolution for ¥ 1,00,000.
Book value is realized.

(iv)  The value of laptop is ¥ 35,000. One partner has taken it for ¥ 25,000.

:OR:

How would you deal with the following balances disclosed in the balance sheet at

the time of dissolution of a partnership firm?

(i) Investment Fluctuation Fund

(i)  Workmen accident compensation fund

(iti)  Debit balance of Profit & Loss A/c

(iv)  Provident Fund

SECTION :D
Answer the following question no.7 & 8 as directed.
Each question carries 8 marks. [16]

Krupa and Komal are partners sharing profit and loss in the ratio of 3:2. Balance
sheet of their firm as on 31.3.2020 was as under:
Balance Sheet

Liabilities Amt.(3) Assets Amt.(%)
Capital account : Land-Building 1,60,000
Krupa 1,40,000 Debtors 44,000
Komal 1,00,000 | 2,40,000 | (-)Bad debt reserve 4,000 40,000
Provident fund 36,000 | Stock 72,000
Creditors 44,000 | Cash 8,000

Goodwill 40,000
3,20,000 3,20,000

On above date they admitted Kajal as a new partner on the following terms:
(1) Kajal will bring ¥ 1,20,000 as capital in cash. Goodwill is valued at
% 60,000. Kajal cannot bring his share of goodwill in cash.
(2)  Value of land and building is ¥ 1,80,000.
(3) Bad debt reserve is to be provided at 5% on debtors. Value of stock is to be
reduced by ¥ 800.
(4)  Creditors of ¥ 1,000 are not to be paid.
New profit and loss sharing ratio of all partners is decided at 5:2:3.
From the above information prepare necessary accounts and balance sheet
after admission. Give necessary journal entries for goodwill.
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8.

A, B and C are the partners sharing profit and loss in the ratio of 2:2:1.
C retired on 31.3.2020. Balance sheet of firm as on 31.3.2020 was as under:
Balance sheet

Liabilities Amt. R) Assets Amt. )

Capital Accounts: Goodwill 30,000

A 90,000 Machinery 60,000

B 60,000 Investments 30,000

C 30,000 | 1,80,000 | Debtors 90,000

General reserve 15,000 | Stock 30,000

Investment fluctuation fund 7,500 | Cash-bank 15,000
Bad debt reserve 6,000
Creditors 46,500

2,55,000 2,55,000

Following adjustments are agreed at the time of retirement:

(1)  Value of machinery is ¥ 75,000 and Value of stock is ¥ 15,000.
(2)  Value of investments is X 24,000, which is taken by C at this price.
(3)  Anamount of ¥ 15,000 included in creditors is no longer payable.
(4)  The claim for workmen compensation to be credited at I 6,000.
(5)  The provision for doubtful debts is to be kept at 10% on debtors.
(6) Goodwill of the firm is valued at ¥ 1,20,000.
(7)  Balance of retiring partner will be kept as loan.
Prepare necessary accounts and the balance sheet of the firm after C's

retirement.
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